
Sample space

G

<latexit sha1_base64="w7GkJ7R/PBAv+q4CWvfdiGrNPwQ=">AAAB8nicbVDLSgMxFL1TX7W+qi7dBIvgqsxIRZdFF7qsYB8wHUomzbShmWRIMkIZ+hluXCji1q9x59+YaWehrQcCh3PuJeeeMOFMG9f9dkpr6xubW+Xtys7u3v5B9fCoo2WqCG0TyaXqhVhTzgRtG2Y47SWK4jjktBtObnO/+0SVZlI8mmlCgxiPBIsYwcZKfj/GZkwwz+5mg2rNrbtzoFXiFaQGBVqD6ld/KEkaU2EIx1r7npuYIMPKMMLprNJPNU0wmeAR9S0VOKY6yOaRZ+jMKkMUSWWfMGiu/t7IcKz1NA7tZB5RL3u5+J/npya6DjImktRQQRYfRSlHRqL8fjRkihLDp5ZgopjNisgYK0yMbaliS/CWT14lnYu616hfPjRqzZuijjKcwCmcgwdX0IR7aEEbCEh4hld4c4zz4rw7H4vRklPsHMMfOJ8/fASRZQ==</latexit>

supp(X)

<latexit sha1_base64="dIcZku7lQeNqP1MAWE6zY4Yc0B4=">AAAB7nicbVBNSwMxEJ34WetX1aOXYBHqpexKRU9S8OKxgv2AdinZNNuGZrMhyQpl6Y/w4kERr/4eb/4b03YP2vpg4PHeDDPzQiW4sZ73jdbWNza3tgs7xd29/YPD0tFxyySppqxJE5HoTkgME1yypuVWsI7SjMShYO1wfDfz209MG57IRztRLIjJUPKIU2Kd1DapUpXORb9U9qreHHiV+DkpQ45Gv/TVGyQ0jZm0VBBjur6nbJARbTkVbFrspYYpQsdkyLqOShIzE2Tzc6f43CkDHCXalbR4rv6eyEhszCQOXWdM7MgsezPxP6+b2ugmyLhUqWWSLhZFqcA2wbPf8YBrRq2YOEKo5u5WTEdEE2pdQkUXgr/88ippXVb9WvXqoVau3+ZxFOAUzqACPlxDHe6hAU2gMIZneIU3pNALekcfi9Y1lM+cwB+gzx/LZo81</latexit>
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